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TN Ud HEHR & A9
ELEMENTS OF BOOK-KEEPING AND ACCOUNTANCY

wOh ;3 uUe | [ qurfes @ 100
Time : 3 hours ] [ Max, Marks : 100

frde : wh ol $ IR M) oS 1E @ wHE Ied fag Pl o afew €
Instruction : Attempt all questions. Marks allotted to each question are mentioned against them.

1. Fifsy aaue sh o @ gwaet 9 31 [ar, 2011 1 dar fear nar 2- 20
fie N L4 pfee i L4

=Y 12,400 Rera 15,800
g N5 200 g 9,000
Uy 2,000 FEN 1,540
I 1,600 <a-faus 450
® v 400 A 670
yRivS @ 2,200 T 40
g g 800
Ry For 250
AT AT<ART 140
HTETIY 580
L5 (14 2,100
wqH 4,720
A 110

27,500 27,500

31 fewmR, 2011 &Y WIIR W1 TR—¥T @ran A Aie—re P e = s
¥ 3ad ge da -

@) arm ¥ T 150, 5w = T 50, qigw € TS50 Ay aqaifofa wfe T 150 #)
(@) w99 W 10% 9 6 T Hifod |

(M TI"RE W 3% B ¥ YWD HOT FI gy )
(M 31 Rwray, 2011 B a3 <l o1 99 T 3,500 =)
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The undermentioned Trial Balance has been prepared from the books of Sri Ram Gopal on 3ist
December, 2011—

Debit Balances T Credit Balances T
Purchascs 12,400 Sales 15,800
Cash in hand 200 Capital 9,000
Cash at Bank 2,000 Creditors 1,540
Salary 1,600 Bills Payable 450
Tax and Insurance 400 Commission 670
Opening Stock 2,200 Interest 40
Gencral Expenses 800
Bad-Debts 250
Carriage Inwards 140
Drawings 580
Debtors 2,100
Buildings 4,720
Discount 110

27,500 27,500

Prepare a Trading and Profit & Loss Account and a Balance Sheet on 315t December, 2011 keeping

in mind the undermentioned adjustments—

() The emount of Outstanding Salary is T 150 and the amount of Outstanding Tax is ¥ 50. The
amount of prepaid Insurance is T 50 and the amount of Unearned Commission is T 150

(b) Make a provision of 10% depreciation on Building.

(c) Make 3% provision for Bad-Debts on Debtors.

(d) The value of Closing Stock on 31st December, 2011 was T 3,500,

2. (@) wE ge ama wYd Ry ) #) ol e & wr v /e it S 5

(i) = TamA frrw @ wn g (e / 3RTea)
(i) WTE-gF B By I W TS = 2w 8 (ae / SrHe)
(i) TH-gE W Bfee v aRfTd TR v 3 (weg / or9)
(iv) ¥z aRfaFf w = 2 §) (e / )
v) % @y oe-go ¥ Hae fad wm §) (e / )

Here some genera! statements are given. Write T ue/False against cach of them—

(i} Bank Reconciliation Statement is an account (True/False)
(i) Bank allows interest on credit balance of Pass-Book. (True/False)
(i) The credit balance of Pass-Book denotes overdraft, (True/False)
(iv) Bank allows interést on overdrafl. {True/False)
(v) Bank charges arc debited in the Pass-Book. (True/False)
(@) 30 97, 2012 T UH AW B TS @ B T T 5,840 o | WFT GwrE  AATH A
& are Fyenifea gl wra gd- 5
@) THAL 750D ¥ Iz ¥ amE A B R N 4 g o A T 250 B 4T & g
4 qemd o oS T ¥ A AR )
) sEAT 12002 P rifm AR A, R o m @ issoddr i iz R
TR T
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(i) T 150 o TF T5—FIve U 6D W WKy KA o, W A IR A fora v man
oy 99 d A8t Fo on wH o

(iv) ¥ % 38 @R 3 T 40 7 B Hfde AR Al T 7.50 §& =2 @ awmd & | g S
g qee W A8 gen il

) TFA T 54 77 U@ U% ¥ A oon i or S ol @ a9 e F ¥ 45 forar
wg T §F § X T 54 wide 5l T 8

FeRra faawo @ 30 9, 2012 Y o § wAEE R &R AR

On 30th June, 2012, there was a Credit Balance of T 5,840 in the Pass Book of & businessman,

Afier reconciling with the Cash Book, the undermentioncd informations were received—

(i) He had sent the cheques for callection amounting to ¥ 750 to the Bank but out of those,
the cheques for ¥ 250 were credited in his account by the Bank on 4th of July.

(i) He had issued the cheques for ¥ 1,200, but until 30th June, the cheques for only T 850
had been discounted with the Bank.

(iii) A Bank draft for ¥ 150 had been received from a customer, which had been entered in the
Cash Book, but it could not be scnt to the Bank.

(iv) Bank credited T 40 as interest in his account and had charged Rs. 7.50 as Bank charges.
These were not entered in the Cash Book,

{v) He had submitted a cheque for T 54 in the Bank, which was wrongly entered for T 45 in
the Cash Book. But in the Pass Book, the amount of full ¥ 54 had been credited.

From the ahove details prepare a Bank Reconciliation staterment on 30th June, 201 2.

JAee gwrd 7@ B ¢ ? Yaw Y@ TRe A g weed gedl € ? Ot wrwte W8t @
Y T ARV YN VS D TR P | 10
What is a Cash Book ? What is the necessity of a Petty Cash Book ? With five imaginary
transactions, preparc a simple Petty Cash Book.

g o 2 TR SRR T 5w ST o7 Tofw R | 6 arTa fAfva =
e s RFFg A T 3 ? 5
Define Bills of Exchange, and narrate its utility. What is the difference between a General Bill
of Exchange and a Bill of Accommodation.

o ¥ | S, 2010 B T 1,000 BT A T B A9 AR 56 R 2 An Al w1 e fRe
farn, R 7 A WeR = o) T AR R T 571 Re F1 A ) Ry m | Frifee
ufRfeufrdf ¥ & T T B e | Wawgs Iq DA~ 15
@ & 3 e fofr o RS @) o g Yan qar e @ g s e

(i) ‘&7 % RS o 6% NP I A w W IF A 9 form)

i) o A ¥ B RS w7 e W Ry

(v) % AT 597 & W@ a5 B 9% A T g ww w=

On 1st January, 2010 *A’ sold goods to ‘B’ for T 1,000 and drew a Bill on him for two months,
which was accepted by ‘B’, On due date the payment of the Bill was made by ‘B’. Make
necessary journal entries in the books of *A’ and ‘B’ under undermentioned circumstances—
() ‘A’ kept the Bill with himselftil] the date of payment and received the payment of the Bill,
(i) ‘A’ discounted the Bill with the Bank at the rate of 6% interest per annum.

(iii) ‘A’ endorsed the Bill 10 *C".

(iv) ‘A’ received the payment of the Bill after one month under the rebate of ¥ 5,

243 (HXT) (31 [RT.O. .

http://www.ukboardonline.com

wod duluopIeOo@ N Mmm//:diy



wod duluopIeO@ N Mmm//:diy

4. (@)
@)

(™

http://www.ukboardonline.com

T WRN T W B ? g anwea pd it R P MY g B & 7 5
What is Suspense Account 7 When does its need arise ? How daes it close up ?

g 3R fg—ualia agfadt oo af 2 7 yoom Eview P R P orar 2 7 S
What are one-sided and double sided errors ? How are these rectified ?

Praifeg agfadl @ qEr &y ofe o HRE- 10

(i) 500 =7 wAER B Y, B GH A ST W 2w 1o

(i) HeEra @ feaw T 100 Ty gy wn, v e gEat # B swar i fear T

(iif) i B A F T EUJ“‘T&%?&W-\‘; UE Y@EH "R @ W oeie @ 8 gy

(ivy S 9 T 650 &1 A GRIET T Al 39 39 Al wny F 2T fmm
AR orw any 3 Bie ww R T

(v) e ¥ ¥ 500 71 w-fae fran, < O @ @y § o & T4

Give journal entries for the rectification of undermentioned ermors—

(i) The purchases of furniture for T 500 was debited in purchases account.

(i) T 100 was paid to Mohan Lal as salary in Cash but it was not entered in the books at all.

(ili) T 800 were spent in the repairs of Machinery, but this amount was debited in the Machinety
Account,

(iv) Goodsamountingio T 650 was purchased from Dinanath, but it was debited in his Personal
account and credited in the goods account,

(v) Bills Receivable for T 500 was received from Dinesh, but it was credited in the account
of Ramesh. http://www.ukboardonline.com

s w o wed § 7 gt § ara o aawn s R sia & 7 o ew gwrst o an

o TR A T, O FHH Al Wl W Ty gEE I ? 5
What is the meaning of depreciation 7 How far it is reasonable to make the provision for
depreciation 1n the books ? If we do not make any provision for depreciation in the books, what
will be its impact in the final accounts 7

(@ =™ Fed H FH < ughal & we w9 ¥ 9uiF DI 5
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Describe clearly any two methods of depreciation.

s A, 2011 A U@ i T 15,225 % oy o 0f | 39T sgifea s w10 7wt
@I g vl o s de v am gy 10
On 1st January, 2011, a Machincry was purchased for T 15,225, Its estimated life was

10 years and the scrap value was T 225.  Prepare Machinery Account for the first five years
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